ENGLISH FOR ENGINEERS

FINAL TEST

I Fill in the gaps with the words from the box (10pts)

	circuiting    assumptions    crewmembers    addressed     compliance    electrolyte    personnel    oversight    certification     recorder


No passengers or …………………………(1)  were aboard the airplane at the time, and none of the maintenance or cleaning …………………………(2) aboard the airplane was injured. Safety issues relate to cell internal short …………………………(3) and the potential for thermal runaway of one or more battery cells, fire, explosion, and flammable …………………………(4) release; cell manufacturing defects and…………………………(5) of cell manufacturing processes; thermal management of large-format lithium-ion batteries; insufficient guidance for manufacturers to use in determining and justifying key …………………………(6)  in safety assessments; insufficient guidance for Federal Aviation Administration (FAA) certification engineers to use during the type …………………………(7)  process to ensure …………………………(8)  with applicable requirements; and stale flight data and poor-quality audio recording of the 787 enhanced airborne flight…………………………(9)   . Safety recommendations are …………………………(10) to the FAA, The Boeing Company, and GS Yuasa Corporation.
II Provide the words/phrases for the explanations bellow: 6pts

1. A computer generated environment that seems real

2. Something shaped like a pan for writing on a computer screen or pad

3. A device that detects a level of excessive humidity and raises an alarm

4. A device which detects the presence of a person in an unauthorized area and triggers an alarm

5. A component that can measure inclinations on two axes at the same time

6. A piece of equipment that makes a film or picture appear on a screen or flat surfac
III Rewrite the sentences using the words in italics. There should be no changes to the words in italics (12pts)
1. To say this in a simple way, you can’t break it by striking it, pulling it, pressing on it or twisting it.
(everyday)…………………………………………………………………………………………………………………………………………………
2. To put that simly, you change the length of the aerial to match the vibration of the aerial to match the vibration of the wave that’s coming in.

(layman’s)_________________________________________________________________________
3. How would you tackle reducing our energy costs

(go)__________________________________________________________________________________
4. The staff have been instructed in safety procedures if there is fire or other emergency.

(event)______________________________________________________________________________

5. Video cameras would pinpoint the area.

(home)………………………………………………………………………………………………………………………………………………….

5. If the clients fails to pay the balance within 30 days, they will have to pay a fine of $1000.

(should)………………………………………………………………………………………………………………………………………………..

  IV Join these pairs of sentences into single sentences that have a similar meaning. Use the word in brackets and make any other necessary changes (5 pts)
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VI The diagrams below show two types of touch screen: resistive and capacitive. Describe the main features of the two systems, discuss their advantages and disadvantages, and make comparisons where relevant. [image: image3.jpg]PET film
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